Chapter 06 - Accounting for Long-Term Operational Assets

CHAPTER 6 - Accounting for Long-Term Operational Assets
PROBLEM 6-24
a.


	Optimal Solutions Inc. Horizontal Statements Model - 2012

	Balance Sheet
	
	Income Statement
	
	Statemt. of

	Assets
	=
	Equity
	
	Rev.
	(
	Exp.
	=
	Net Inc.
	
	Cash Flows

	Event
2012
	Cash
	+
	Equip.
	(
	A. Depr.
	=
	Com. Stock
	+
	Ret. Earn.
	
	
	
	
	
	
	
	

	1.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	2.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	3.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	4.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	5.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	6.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Bal.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


1
	Optimal Solutions Inc. Horizontal Statements Model - 2013

	Balance Sheet
	
	Income Statement
	
	Statemt. of

	Assets
	=
	Equity
	
	Rev.
	(
	Exp.
	=
	Net Inc.
	
	Cash Flows

	Event
2013
	Cash
	+
	Equip.
	(
	A. Depr.
	=
	Com. Stock
	+
	Ret. Earn.
	
	
	
	
	
	
	
	

	Bal.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	1.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	2.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	3.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	4.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	5.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Bal.
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PROBLEM 6-24 (cont.)

	Optimal Solutions Inc. Horizontal Statements Model - 2014

	Balance Sheet
	
	Income Statement
	
	Statemt. of

	Assets
	=
	Equity
	
	Rev.
	(
	Exp.
	=
	Net Inc.
	
	Cash Flows

	Event
2014
	Cash
	+
	Equip.
	(
	A. Depr.
	=
	Com. Stock
	+
	Ret. Earn.
	
	
	
	
	
	
	
	

	Bal.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	1.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	2.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	3.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	4.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Bal.
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PROBLEM 6-24 (cont.)

	Optimal Solutions Inc.
Financial Statements

For the Years Ended December 31

	
	
	
	
	
	
	
	
	

	Income Statements

	
	
	
	
	
	
	
	
	

	
	
	
	2012
	
	2013
	
	2014
	

	
	
	
	
	
	
	
	
	

	
	Service Revenue
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	Expenses
	
	
	
	
	
	
	

	
	
Maintenance Expense
	
	
	
	
	
	
	

	
	
Service Fee Expense
	
	
	
	
	
	
	

	
	
Depreciation Expense
	
	
	
	
	
	
	

	
	Total Expenses
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	Net Income
	
	
$23,200
	
	
$28,740
	
	
$27,830
	

	
	
	
	
	
	
	
	
	

	Statements of Changes in Stockholders’ Equity

	
	
	
	
	
	
	
	
	

	
	Beginning Common Stock
	
	
	
	
	
	
	

	
	Plus: Stock Issued
	
	
	
	
	
	
	

	
	Ending Common Stock
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	Beginning Retained Earnings
	
	
	
	
	
	
	

	
	Plus: Net Income
	
	
	
	
	
	
	

	
	Ending Retained Earnings
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	Total Stockholders’ Equity
	
	
$83,200
	
	
$111,940
	
	
$139,770
	

	
	
	
	
	
	
	
	
	


PROBLEM 6-24 b.(cont.)

	Optimal Solutions Inc.

Financial Statements

	
	
	
	
	
	
	
	
	

	Balance Sheets

	
	
	
	
	
	
	
	
	

	
	
	
	2012
	
	2013
	
	2014
	

	
	Assets
	
	
	
	
	
	
	

	
	
Cash
	
	
	
	
	
	
	

	
	
Computer
	
	
	
	
	
	
	

	
	
Less: Accumulated Depr.
	
	
	
	
	
	
	

	
	Total Assets
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	Liabilities
	
	
$        -0-
	
	
$        -0-
	
	
$       -  0-
	

	
	
	
	
	
	
	
	
	

	
	Stockholders’ Equity
	
	
	
	
	
	
	

	
	
Common Stock
	
	
	
	
	
	
	

	
	
Retained Earnings
	
	
	
	
	
	
	

	
	Total Stockholders’ Equity
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	Total Liab. and Stkholders’ Equity
	
	
$83,200
	
	
$111,940
	
	
$139,770
	

	
	
	
	
	
	
	
	
	

	Statements of Cash Flows

	
	
	
	
	
	
	
	
	

	
	Cash Flows From Oper. Act.:
	
	
	
	
	
	
	

	
	Inflow from Revenue
	
	
	
	
	
	
	

	
	Outflow for Expenses
	
	
	
	
	
	
	

	
	Net Cash Flow from Oper. Act.
	
	
33,800
	
	
35,100
	
	
34,100
	

	
	
	
	
	
	
	
	
	

	
	Cash Flows From Inv. Act.:
	
	
	
	
	
	
	

	
	
Cash Outflow for Computer
	
	
	
	
	
	
	

	
	Net Cash Flow from Inv. Act.
	
	
(26,500)
	
	
-0-
	
	
(3,000)
	

	
	
	
	
	
	
	
	
	

	
	Cash Flows From Fin. Act.:
	
	
	
	
	
	
	

	
	
Cash Inflow from Stock Issue
	
	
	
	
	
	
	

	
	Net Cash Flow from Fin. Act.
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	Net Change in Cash
	
	
	
	
	
	
	

	
	Plus: Beginning Cash Balance
	
	
	
	
	
	
	

	
	Ending Cash Balance
	

	
$67,300
	
	
$102,400
	
	
$133,500
	

	
	
	
	
	
	
	
	
	


PROBLEM 6-28
Depreciation Calculation:

Straight Line:
Company A:  ($            ) (  = $   per year

Double-Declining Balance:
Company B: 



2012
($-)

x
()
=
$


2013 
($)

x

=



2014
($) 
x

=


 
2015
($) 
x

=


2016 
($) 
x

=



*Increased to remaining depreciable cost.

Units-of-Production:
Company C:


 Depr. Rate:
$- $



   
     
    =
$ per hour


2012
$                     =
$

    
2013
$                     =


2014
$                     =


2015
$                     =


2016
$                     = 
 *

*Limited to remaining depreciable cost: [$    ].

PROBLEM 6-28 (cont.)

a.
Company A - 2012


Revenue
$



Depreciation Expense
 ()



Net Income
$ 

Company B - 2012


Revenue
$


Depreciation Expense
 ()



Net Income
$  

Company C - 2012


Revenue
$


Depreciation Expense
 ()



Net Income
$ 

Company A has the highest net income in 2012.

b.
Company A - 2014


Revenue
$



Depreciation Expense
 ()



Net Income
$ 

Company B - 2014


Revenue
$


Depreciation Expense
  ( )



Net Income
$ 

Company C - 2014


Revenue
$


Depreciation Expense
 ()



Net Income
$ 

Companies A and C have the lowest net income for 2014.

PROBLEM 6-28 (cont.)

c.
Company A 
Accumulated Depreciation



2012

 $



2013

 


2014

  




$

Cost


$

Accumulated Depreciation
 ()


Book Value

$ 

Company B

Accumulated Depreciation



2012

$


2013




2014

    




$

Cost


$

Accumulated Depreciation
()


Book Value

$ 

Company C

Accumulated Depreciation



2012

$


2013

  


2014

  




$

Cost


$

Accumulated Depreciation
()


Book Value

$ 

Highest book value, 2014: Company A 

PROBLEM 6-28 (cont.)

d.
Company A:
Sales (four years)
$



Depreciation (four years)
   ()



Retained Earnings - 2015
$   


Company B:
Sales (four years)
$


Depreciation (four years)
   ()



Retained Earnings - 2015
$  


Company C:
Sales (four years)
$


Depreciation (four years)
  ()



Retained Earnings - 2015
$  

Company A has the highest amount of reported Retained Earnings on the 2015 Balance Sheet.  The Instructor should point out that at the end of the asset's five-year life, the effect on retained earnings is the same under all three methods.

e.
The cash flow from operating activities will be the same for each company if income tax is not considered.  Depreciation expense is not a cash flow item.                                                    
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